
1) 6461 ÷ 71

Answer: ____________

2) (8 - 14 ÷ 10) x 9

Answer: ____________

3) 6838 x 1961

Answer: ____________

4) 6665 + 2893

Answer: ____________

5) 4194 + 1377

Answer: ____________

6) 5073 ÷ 57

Answer: ____________

7) 6192 + 4093

Answer: ____________

8) 14 ÷ 18 x (8 + 18)

Answer: ____________

9) 192 - 13 + 9 - 11

Answer: ____________

10) 1641 + 6830

Answer: ____________

11) 7120 ÷ 89

Answer: ____________

12) (13 x 20) - 19 - 3

Answer: ____________

13) 6691 + 9798

Answer: ____________

14) 2112 ÷ 24

Answer: ____________

15) 9313 x 8961

Answer: ____________
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16) 6817 + 9526

Answer: ____________

17) 4272 ÷ 89

Answer: ____________

18) 5994 - 4940

Answer: ____________

19) 6028 - 4187

Answer: ____________

20) 9494 - 4715

Answer: ____________

Total: ___ / 20
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Answers:

1) 91 2) 3) 13409318 4) 9558 5) 5571 6) 89 7) 10285

8) 9) 346 10) 8471 11) 80 12) 13) 16489 14) 88

15) 83453793 16) 16343 17) 48 18) 1054 19) 1841 20) 4779
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